Quiz os

E hem 34?2 23 April 2004

3 Points Each. Please mark your answers on the scantron sheet. You may keep this copy.
1. What is the product of the aldol reaction with the following two carbonyls?

O o}
O OH OH OH

Ph)J\H : )K a) Ph)l\)< b) Ph)\)\ c) ph/K)k d) PhM

2. Which reaction conditions would be best to carry out the following transformation?

a) Br,, CH3;CO,H b) NBS, peroxides

(0] ? (0]
‘ ~ Ao \AOH ¢) PBrs, then H;0* d) NaBr
Br

3. Which of the following is the structure for LDA?

I e LA
a) N b) N o) AN d) A~

4. What is the product of the following sequence of reactions.

(@] (@]
1) NaOEt, EtOH
é/u\oa CHaCHaBr /\é/u\
il b)ij c)ij d)b

5. What is the product of the following sequence of reactions.

(0]

1) Brp, CH3CO,H 0 o o) o)
é 2) pyridine Br Br ﬁ
a) é b) i c) iL d)

6. What is the product of the following reaction?

o]
o) 1) LDA
2) PhCH,Br Ph HO Ph o] (o]
a)  ou b) c) d)

7. Which of the following molecules has the MOST ACIDIC hydrogens?
0

a) ook o) o I go~
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